| =%

happybeds

Assembly Instructions

Max Low Sleeper Bed

\.,/T'

Important before assembily:

Read these instructions carefully before assembling or using the product.

Please check the contents of the boxes before attempting to assembile this product. The instructions will
have a checklist of parts and fittings.

It would be sensible to lay a rug or a carpet on the floor where you intend to assemble the product, to avoid
scratches and damaging the product or the floor.

Assemble the product as close to its intended final location/room as possible.

Do NOT use any power tools as this may damage the frame.

Health & Safety:

This product or some parts of this product will be heavy. Please use an assistant when lifting.

Please keep small parts out of reach of children.

Always use on a level, even surface.

DO NOT jump on the product or any of its parts.

DO NOT use this product if any parts are missing, damaged or worn.
DO NOT use this product unless all fixings are secured.

Please keep these instructions for future reference.
www.happybeds.co.uk



These tools are not
necessary, but may
help to assemble
certain parts of the
product.

Do NOT use any power
(Not metal) tools as this may
damage the frame.

Py %

v L

This product or some parts of this product will be heavy. Please use an assistant

when lifting.
o J
g F =\
Never drag or push the pieces across a hard or stone floor as this will cause
damage to the joints. Use a carpet or a rug for extra care.
N /
4 N

happybeds

M

If you have problems assembling or have damaged or missing pieces, please
contact us by visiting:
https://www.happybeds.co.uk/customer-service

- J




happybeds

Important for High Sleepers, Bunk Beds
and Children’s Beds

Warning:

High sleepers and the upper tier of bunk beds are not suitable for
children under 6 years of age due to risk of injury from falls.

High Sleepers and Bunk Beds present a risk of injury from
strangulation if used incorrectly. Never attach or hang anything on
any part of the bed that is not designed to be used with the bed, for
example, but not limited to ropes, strings, cords, hooks, belts and
bags.

Children can become trapped between the bed and the wall, a roof
pitch, the ceiling and other pieces of furniture (e.g. wardrobes). To
avoid risk of serious injury, the distance between the top safety barrier
and any adjoining structure shall not exceed 75mm or shall be more
than 230mm.

Maximum thickness of a mattress on the top tier is 18cm. Please refer
to the label or marking on the headboard.

This bed has been tested by an independent laboratory and is in

compliance with BS EN 747-1: 2012+A1:2015 - Standard Consumer
Safety specification for bunk beds & high sleepers.

www.happybeds.co.uk



Parts and Fittings List - For the full Max Combination Set

Qty
14

Qty

1/4 X 100 ALLEN BOLT LARGE CAMLOCK
ol — (T
7 X100 ALLEN BOLT 7X60  ALLEN BOLT
Qty Qty Qty
E 56 52| G @@ 10
4X30 SCREW @10X40 DOWEL SMALL CAMLOCK
(! 2 Iy = Qy
H ®
k‘@-f 2 P VETAL PIN 8 ] g CENTER NUT 16
@» Qty Qty Qty
ARROW NUT 16 35X16  SCREW 4 ALLEN KEY 1
Qty Qty ) Qty
6 1 P 1
ALLEN KEY SCREW 3/16 X 1"
i 2 S @‘ 1
1/4X50  ALLEN BOLT SCREW 3/16 CABI13
Qty @ Qty Qty
T 6.8cm 2 17 44 V @ 16 1 6
Qty Qty Qty
10 211 8

Please note:

This page illustrates the parts and
fittings for the full product set.
Depending on the product you
want to build, you may not require
to use all the parts.




Max Combination - Lowsleeper Bed
Dowels Fittings

@10 X 40
DOWEL




nts

Lowsleeper Bed - Compone




10

Assemble Twice

Qty 8

X100
ALLEN BOLT

@)

Qty 1

=

ALLEN KEY

11

B

Tools Needed




12

A Qty 2
Q 1/4X100
ALLEN BOLT

B Qty 2
S
LARGE CAMLOCK

@)

Qty 1

=

ALLEN KEY

Tools Needed







E Qyx|[T Qty 02
SCREW 4 X 30 SPACER 6.8cm
Tools Needed T <2 4> = W
Do Mot Use Power Tools \ f
®\ " (25) 12x “
_ J= 25) -
g /
(25)

= o

98.4cm

Your bed is now ready to use.




Did you know?

With your remaining spare parts you are able to build one of the
following beds: Toddler Bed, Midsleeper Bed or the Guest Bed

(For further instructions, please see our manuals for the above-mentioned beds)

Midsleeper

~ HH"'/

Toddler

Please dispose of all packaging safely.

General Care & Maintenance

Wipe clean with a slightly damp cloth.
Avoid the use of all household cleaners and abrasives.

Periodically check all screw & fixings to ensure they are secure.

When moving your product, carefully lift into place. Never drag or push the pieces across the
floor as this will cause damage to the joints and could result in failure to the product that will
invalidate the warranty.

For more information on cleaning and product care visit:
https://www.happybeds.co.uk/help-and-advice

Notes

We've tried to make this product as easy to assemble as possible. In the unlikely event that
you have problems putting it together or have damaged or missing pieces, please contact
us by visiting:

https://www.happybeds.co.uk/customer-service

neoe

www.happybeds.co.uk happybeds



